TEXT BOOK EXERCISE 5. 4

Q. 1. Find the square root of the followmg
decimal numbers. -

‘ (@) 9.61 @) 11.56 i) 466.56 -

@) 14641 (v) 135424 (vi) 1.218816 -

3.1

Solution. () 3[ 967
_9 ‘
61 61
—61
0

_—

\J9.61 =3.1 Ans.
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11.56
-9

64| 256
— 256

L 0
1156 =34 Ans\
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(iv)

21.6

41
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2| 466.56
4
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2556
— 2556

W

0
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V46656 =21.6 Ans.
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14641 = 1.2 Ang,



v 3
66

728

= 135424 =363 Auns.

, 1104
vi) 1| 1218816
Eeh -1
21 21
—21.
2204| 8816 .
—8816
0,

% «/1.218816 = 1.104 Ans.

~ Q. 2. Find the square root of the followings :

o 5 o 14
) 769 (u)’ 441
Jeia § .. 196
G5 784 @) 25
SR ed - Je 8§
Solution. (i) 169 169 69 =13
13
1| 169
8 ~1
A Mo 23| 69
—b4 — 69
0 Nl
|20
144 144 12
@) = T = 21 A
441 441 21

12 - I8
1| 144 1| 441
~1 4
2| 44 a1l 4
— 44 —41
0 0 \
" 81 ._@-— s _?_.- Ans
WD) \7ga = J784 28
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o 2_’47184’
o[ 81 T
_31 48| 384
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19 _ V1% _ 14
W \es = Jezs T 257
‘ ek & 3 25
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2A[ERO6 . Y5 [ 995
L9 &M 12925
0 SR 0
Q.3. Find' the square root of 2, 3 and 5 upto

three digits of decimals.

Solution. (i)

24

281

2824

1414

7400
=281

11900

—11296
604

Square root of 2 = |2

= 1.

AVA AT



A Ans. (b) 8204.

. "“"‘-ﬁ-_—_—__—_—
(@) '

27( 200

343 1100

3462( . 7100

Square root of 3 = /3 =173 Ans.
| 2.236
- (i) 2| 5.000000
—4

: 4.2 100 il : k

|=sa
i} =1832970k s Sl

N ML * P jpordt o :

—26796

(@ 1. (b) 2
, () 3 ()4
| J(i‘ii) Fmd square root of 39.0625.
@625 (b 625
© 0625 @ 6.6251

, (i), Fmd the 1ength of hypotenuse of a righ

i
(@) 6 ¢ cm (b) 8 cm
"i'fg'r"'.(c) 10 cm (d) 10 cm?,

Ams ‘(z) /(a) \/15?

! DTV u

Square root of 5 = 5. =2236Ans RENGRHE I

4. Multiple choice questions : ~
((21) Choose. the correct way of Placmg b

: from fOI]OWlng
' '(b) \/15525

@) \/56‘2; i ‘
-'(C) «/i'?é_'i: (d) \/1562 :

.(iz‘) After how many places decrmal Wi
. appear in square root of 24.01.

-gtnangle havmg other two sides as 6 cm

2 and (n+ 127

@ 2n C @yiow ot b
© 2n+1 ' (g n2." AN
Ans. (@) 2n. kv

(u) ‘Which of the followmg numbers W111 have- ‘

4 at the unit’s place 4

(a) 142 (b). 622 1
(©) 27 (@352, 1
Ans. (b) 622 . h :

(zzz) The square of which of the followmg

numbers is an even number ?
(a) 431 .‘ (b) 8204
(c) 2825 (d)'533r

L)) How many natural numbers he betweenl ‘

Ans. (d) 234

1s nota Pythagorean

(b) 6810
(d) 234

(u) 2025 plants are’ o be planted in a garden
- In such a way- that ‘each TOW contains as

many plants as the number of rows. Find
" the number of rows

N ‘(a) 45 ()55

()35 (d) 25
Ans (a) 45

(vi) If the unit drglt of a number is 9 then wha
will be unit digit of the square of this

_humber ? .‘ i
(@1 0, ®) 2
OB @8

Ans. (a) 1.



/' i
~7.n Which :
(y,,) hich of the following number is a perfect

~ square ?
(a) 626 (b) 186

= (¢) 675
\ns. (@) 529. (d) 529.

(vili) What is the number of natural number
between the square of 12 and square of

13 ?

(@ 23 (b) 24
i () 25 d) 1.
“Ans. (b) 24. '
() Give square root of 4225.

(@) 55 (b) 65
PR (o) 64 (d) 45.
 Ans. (b) 65.
@ 1+3+5+T7+9+11+13+15= ...
S (@ 15 (b) 225
G () 8 (d) 64. .
CAns. (d) 64. - ;

2. Choose True/False for the f
- questions : & G

i —— — — — — —

%

ollowing

NI .
i

ns. False.

may or may not be a square- number, .
- (True/False)

(i) 32 is a square number. (True/False) |~

(i) The number ending with 0,14,5,6 or 9: |

(iii) If the digit at ones place of an number
is 1 or 9, then in the unit’s digit of the
square of that number is also 1. .

, (True/False)

Ans. True.
(iv) Square of a number 12 is 140.
: (True/False)
Ans. False.
(v) Square root of 144 is 12.
Ans. True. ‘

(True/False)

(i) If a natural number m can be expressed as

n2, where n is also a natural number, m is

A 'iinerienss number.
-Ans. square.
(i) Unit digit in perfect ........ are 0,1,4,6.
‘Ans'.:'s"(iﬁar'e.'_- '

Square numbers can only have .........
numbers of zeroes at the end.

(i)
Ans. X ,
(iv) Square of 15 1§ wwoooeee -
ARS. 225y - e

i

even.. . -

: Squar

100t Of 625 1S wievnneee P

| AN 258 R



